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S(p) = {[Iay} HEGAS VVII(L)('(p)ay € Wlf)('(p)}
For each ¢ € W} .(p), define the stable holonomy map hs : W} .(p) — Wit.(¢q) by
hs () := Wige(x) N Wige(q)
Prove that if B C W (p) satisfies u,;(B) = 0, then i (hs(B)) = 0.

Exercise B.1. Let fa(z) = < ) (z). Let p € T? and call

Exercise B.2. Now let f : T? — T? be any C? Anosov diffeomorphims preserv-
ing a volume p. Define hg, the stable holonomy map, as above. Prove that hg is a
diffeomorphism onto its image. Conclude that if B C Wi (p) satisfies py;(B) = 0,
then g (hs(B)) = 0. This concept is called transverse absolute continuity.



